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value R
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value (256/255)R
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value 256R
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Port

Port

GND

input pin: measure voltage Ut

output pin: Uy = (Ny/255)*VCC

output pin: Ux = (Nx/255)*VCC

Ut =
VCC/2

Uin

R2 // R3 = 1 / (1/R2 + 1/R3) = 1 / (255/256R + 1/256R) = 1 / (1/R) = R = R1

(Uin-VCC/2)/R = (VCC/2-Ux)/(256R/255) + (VCC/2-Uy)/(256R)

Uin-VCC/2 = (VCC/2-Ux)/(256/255) + (VCC/2-Uy)/256

Uin-VCC/2 = 255*(VCC/2-Ux)/256 + (VCC/2-Uy)/256

Uin-VCC/2 = VCC/2 - (255*Ux + Uy)/256

Uin = VCC - (255*Ux + Uy)/256

Uin = VCC - VCC*(Nx + Ny/255)/256

Uin = VCC - VCC*(256*Nx + Ny + Ny/255)/65536 = (1 - K/65536)*VCC

0 <= Ny <= 255

0 <= Nx <= 255

K = 256*Nx + Ny

if Ny >= 128 then K = K+1 (rounding)


